230V

ORBITAL

JIGSAW

56776 - JSS750E SPARE PARTS DRAWING

09

Helpline: +44 (0) 23 8049 4344 Sales Desk: +44 (0) 23 8049 4333 General Enquiries: +44 (0) 23 8026 6355 internet: drapertools.com email: sales @drapertools.com

Draper Tools Limited, Hursley Road, Chandler’s Ford, Eastleigh, Hampshire. SO53 1YF UK. TAKCO0119



DRAPER
EXpert

230V

gd ORBITAL

JIGSAW

56776 - JS750E SPARE PARTS LISTING

KEY ol STOCK DESCRIPTION KEY ol STOCK DESCRIPTION
01 YJS750E-01 98714 | Seal paper 37 YJS750E-37 98750 | Housing

02 YJS750E-02 98715 | Left handle 38 Rating label

03 YJS750E-03 98716 | Power cord pressure 39 YJS750E-39 98751 | Stator

04 YJS750E-04 98717 | Support 40 YJS750E-40 98752 | Screw st4.2x60

05 YJS750E-05 98718 | Pin 95x55 41 YJS750E-41 98753 | Baffle ring

06 YJS750E-06 98719 | Locating pin @4x49 42 YJS750E-42 98754 | Bearing sleeve

07 YJS750E-07 98720 | Offsetting spring ©0.6x26x15 43 YJS750E-43 98755 | Bearing 607

08 YJS750E-08 98721 | Locating pin 94x10 44 YJS750E-44 98756 | Rotor

09 YJS750E-09 98722 | Gear box cover 45 YJS750E-45 98757 | Bearing 6000

10 YJS750E-10 98723 | Screw m4x14 46 YJS750E-46 98758 | Wool pad 98x21x1.5

11 YJS750E-11 98724 | Screw m4x28 47 YJS750E-47 98759 | Knob and pin

12 YJS750E-12 98725 | PC light cover 48 YJS750E-48 98760 | Gear box

13 YJS750E-13 98726 | Safety steel lever 49 YJS750E-49 98761 | Locating pin for gear box
14 YJS750E-14 98727 | Front cover 50 YJS750E-50 98762 | Pin 96x28

15 YJS750E-15 98728 | Capacitor 0.33uf 51 YJS750E-51 98763 | Washer ©9.2x236.5x0.5
16 YJS750E-16 98729 | Switch 52 YJS750E-52 98764 | Washer 96.2xg12x0.5
17 YJS750E-17 98730 | Variable speed 53 YJS750E-53 98765 | Carry knife plate

18 YJS750E-18 98731 Induance 54 YJS750E-54 98766 | Balance block

19 YJS750E-19 98732 | Screw m4x10 55 YJS750E-55 98767 | Needle bearing hk090813
20 YJS750E-20 98733 | Right handle 56 YJS750E-56 98768 | Gear

21 YJS750E-21 98734 | Screw st4.2*16 57 YJS750E-57 98769 | Washer 98.2xg17x1

22 YJS750E-22 98735 | Spring 58 YJS750E-58 98770 | Baffle ring 28

23 YJS750E-23 98736 | Transparent cover 59 YJS750E-59 98771 | Needle bearing hk061208
24 YJS750E-24 98737 | Screw m4 60 YJS750E-60 98772 | Washer 96.2x12x1

25 YJS750E-25 98738 | Recip assembly 61 YJS750E-61 98773 | Pin 96x18.7

26 YJS750E-26 98739 | Half-circular washer 62 YJS750E-62 98774 | Washer 95.2x10x0.5

27 YJS750E-27 98740 | Baffle ring 921 63 YJS750E-63 98775 | Locating pin 95x28

28 YJS750E-28 98741 Pressure block 64 YJS750E-64 98776 | Split washer g6

29 YJS750E-29 98742 | Power sleeve 65 YJS750E-65 98777 | Ball o4

30 YJS750E-30 98743 | Washer 66 YJS750E-66 98778 | Spring ©0.45%23.5x9.5
31 YJS750E-31 98744 | Power cord 67 YJS750E-67 98779 | Switch for blower

32 YJS750E-32 98745 | Spring 68 YJS750E-68 98780 | Guide wheel pin 94.1x20.5
33 YJS750E-33 98746 | Carbon brushes 69 YJS750E-69 98781 | Guide wheel 08xa14x11
34 YJS750E-34 98747 | Screw st2.9x8 70 YJS750E-70 98782 | Support

35 YJS750E-35 98748 | Carbon brushes holder 71 YJS750E-71 98783 | Pin for support of guide wheel
36 YJS750E-36 98749 | Screw m4x22 72 YJS750E-72 98784 | Washer 94.2x8.5x0.5

Helpline: +44 (0) 23 8049 4344 Sales Desk: +44 (0) 23 8049 4333 General Enquiries: +44 (0) 23 8026 6355 internet: drapertools.com email: sales @drapertools.com

Draper Tools Limited, Hursley Road, Chandler’s Ford, Eastleigh, Hampshire. SO53 1YF UK.

TAKC0119



DRAPER
EXpert

230V

g ORBITAL

JIGSAW

56776 - JS750E SPARE PARTS LISTING

KEY ol STOCK DESCRIPTION KEY T STOCK DESCRIPTION
73 YJS750E-73 98785 | Baffle ring

74 YJS750E-74 98786 | Needle bearing hk0408

75 YJS750E-75 98787 | Screw m4*8

76 YJS750E-76 98788 | Pressure plate of underplate
77 YJS750E-77 98789 | Screw m4*6

78 YJS750E-78 98790 | Screw m8*2.5

79 YJS750E-79 98791 | Metal base cover

80 YJS750E-80 98792 | Alu base

81 YJS750E-81 98793 | Washer 08xg16x1

82 YJS750E-82 98794 | Butterfly spring

83 YJS750E-83 98795 | Nut m8*2.5

84 YJS750E-84 98796 | Quick release lever

85 YJS750E-85 98797 | Pin 96x16.5

86 YJS750E-86 98798 | Guide rules

87 Saw blade for wood

88 YJS750E-88 98799 | Guide rules screw

Helpline: +44 (0) 23 8049 4344 Sales Desk: +44 (0) 23 8049 4333 General Enquiries: +44 (0) 23 8026 6355 internet: drapertools.com email: sales @drapertools.com

Draper Tools Limited, Hursley Road, Chandler’s Ford, Eastleigh, Hampshire. SO53 1YF UK.

TAKC0119



